MERE B E#E L

A HRE R THIE Example of hose asembly

?

15
e ) b
T |
1400w
PPOP O :
iT##H: HF H2-P1-3-P-1500
75 3ELiERE R Construction size
1 R4 Quick fitting:HFH*
EPTRINE. s H* M2 d L
H1 M12X125 3.3 22
T H2 M16 $3.3 )
g %ﬁ&iﬁ” H3  M14X15 ¢33 2
’ ' H4 M16X15 3.3 22
H43 - $3.3 19
2. EIZ#EE /15 Direct to pressure gauge:HFP*
S
p M/d [ L
P1 M14X15 10 34
N | Y gy N e - P2 M20X15 14 40
P3 G1/4"-19 10 34
—\ P4 M30X15 20 48
: ) P5 G1/2"-14 14 40
P6 M10X 1 8 30
3HMEIEBAR: Thread:HFG*
Gt M [ L
Gl M12X125 6 30
AR G2 M14X 1.5 8 32
G3 M16X 1.5 8 32
G6 M10X 1 8 32
G7 M14x 1 10 34
G8 M16X 1 10 34
G21  T7/16"-20UNF 10 34
G22  1/2"20UNF 12 36
G23  9/16"-18UNF 12 36

382

H—Illlsk

5 hPH: 40NPa

S
17
19
17
19

17
24
17
36
24
14

17
17
19
14
17
19
14
17
19

&iEremark

&iEremark

&iEremark



